



名前: _____

日にち: _____ スコア: _____

$$\left(\frac{2}{5}\right)^3 + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{4}\right)^2 + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{2}{5}\right)^2 + \frac{1}{5} =$$

$$\left(-\frac{1}{5}\right)^3 + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{5}\right)^0 + \frac{1}{2} =$$

$$\left(\frac{3}{4}\right)^3 - \frac{3}{4} =$$

$$\left(\frac{3}{5}\right)^3 + \frac{1}{6} =$$

$$\left(-\frac{1}{2}\right)^0 + \frac{1}{2} =$$

$$\left(-\frac{3}{5}\right) + \frac{1}{5} =$$

$$\left(\frac{1}{4}\right) - \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{3}\right) - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{3}\right)^3 - \frac{1}{2} =$$

$$\left(-\frac{3}{4}\right)^3 + \frac{1}{2} =$$

$$\left(-\frac{1}{5}\right)^3 + \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{5}\right)^3 - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{4}\right)^2 - \frac{1}{6} =$$

$$\left(\frac{3}{4}\right) + \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{3}\right)^2 + \frac{3}{4} =$$

$$\left(\frac{1}{2}\right) + \frac{3}{4} =$$

$$\left(-\frac{1}{5}\right)^0 + \left(-\frac{3}{5}\right) =$$



名前: _____

日にち: _____ スコア: _____

$$\left(\frac{2}{5}\right)^3 + \left(-\frac{1}{2}\right) = \left(-\frac{109}{250}\right)$$

$$\left(-\frac{1}{4}\right)^2 + \left(-\frac{3}{5}\right) = \left(-\frac{43}{80}\right)$$

$$\left(\frac{2}{5}\right)^2 + \frac{1}{5} = \frac{9}{25}$$

$$\left(-\frac{1}{5}\right)^3 + \left(-\frac{3}{4}\right) = \left(-\frac{379}{500}\right)$$

$$\left(-\frac{1}{5}\right)^0 + \frac{1}{2} = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(\frac{3}{4}\right)^3 - \frac{3}{4} = \left(-\frac{21}{64}\right)$$

$$\left(\frac{3}{5}\right)^3 + \frac{1}{6} = \frac{287}{750}$$

$$\left(-\frac{1}{2}\right)^0 + \frac{1}{2} = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(-\frac{3}{5}\right) + \frac{1}{5} = \left(-\frac{2}{5}\right)$$

$$\left(\frac{1}{4}\right) - \left(-\frac{3}{4}\right) = 1$$

$$\left(\frac{1}{3}\right) - \left(-\frac{1}{2}\right) = \frac{5}{6}$$

$$\left(-\frac{1}{3}\right)^3 - \frac{1}{2} = \left(-\frac{29}{54}\right)$$

$$\left(-\frac{3}{4}\right)^3 + \frac{1}{2} = \frac{5}{64}$$

$$\left(-\frac{1}{5}\right)^3 + \left(-\frac{1}{4}\right) = \left(-\frac{129}{500}\right)$$

$$\left(\frac{1}{5}\right)^3 - \left(-\frac{1}{5}\right) = \frac{26}{125}$$

$$\left(-\frac{1}{4}\right)^2 - \frac{1}{6} = \left(-\frac{5}{48}\right)$$

$$\left(\frac{3}{4}\right) + \left(-\frac{2}{5}\right) = \frac{7}{20}$$

$$\left(-\frac{1}{3}\right)^2 + \frac{3}{4} = \frac{31}{36}$$

$$\left(\frac{1}{2}\right) + \frac{3}{4} = \frac{5}{4} = 1\frac{1}{4}$$

$$\left(-\frac{1}{5}\right)^0 + \left(-\frac{3}{5}\right) = \frac{2}{5}$$